
Table of Laplace transforms

f(t) F (s)
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7. u(t− c)f(t− c) e−csF (s)

f(t) F (s)

8. f(t) ∗ g(t) F (s)G(s)

9. f ′(t) sF (s)− f(0)
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Notes

Heaviside is u(t− c). The convolution is (f ∗ g)(t). The error function erf(x) = 2√
π

∫ x

0
e−z2

dz, and erfc(x) =

1− erf(x).

Table of Fourier Transforms

f(x) =
1√
2π

∫ ∞

−∞
F (α)eiαx dα F (α) =
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2π

∫ ∞

−∞
f(x)e−iαx dx

1. f (n)(x) (iα)nF (α)

2. xf(x) iF ′(α)

3. f(x− c) e−icαF (α)

4. f ∗ g
√
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Table of Fourier sine transforms

f(x) =

∫ ∞

0

Fs(α) sin(αx) dα S[f(x)] = Fs(α) =
2

π

∫ ∞

0

f(x) sin(αx) dx

1. f ′(x) −αFc(α)

2. f ′′(x) −α2Fs(α) +
2

π
αf(0)

3.
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x2 + β2
e−αβ

4. e−βx 2
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Table of Fourier cosine transforms

f(x) =

∫ ∞

0

Fc(α) cos(αx) dα C[f(x)] = Fc(α) =
2

π

∫ ∞

0

f(x) cos(αx) dx

1. f ′(x) αFs(α)−
2

π
f(0)

2. f ′′(x) −α2Fc(α)−
2

π
f ′(0)

3.
β

x2 + β2
e−αβ

4. e−βx 2
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5. e−βx2
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